
I,055
,. ?00
4.000

Angle a = 1800- {1100-f lOol

=1800- 1400

= 40o

3,0 00 "+
+-. , 5 -+five.
,3.0 05 -+Three lhousqnd, five

=.!!- x25
=27

Srm=5-l 4

3tn=9
3m'9
33

tr?.=3

.D

= 100% - 20910

= 80%

=#r zaaks

= 160k9

MLet that number be x

= 1007o + 20% =1200/o

120

loo: x=2'4oO

{?Ax=2,40Ax100

l?ax _ 2,400 x 1.00_

120 120

r = 2,000

HCF = 3 (only 3 can dlvide ail the three

numbers at once)

A square has 4 lines of symmetry.

l, 4, ?, l!- 25
(1 x Il (2x21(3x 3l (4x4](5x 5)

P =2(L+t/,/)
40cru = ?{LZ -r i)
4Acm=Zrbc:t:*2x

2x=4Acrn*Z4cm
2x 1"6crc

2Z
x = Sctn

Zx*t=!
2x7+t=y
14+1=y

15=l

= (2oo + ro) .F (fi x roo),,,,s

= Ttdag i- +cla{l

= Z*clctg

3 7,r

79
)

=-
J

Total partd ; 3;t;10 --T*-'----'
= -- x L0, oaaRwt'= 3, 000Ilw/

= fo x ro, ooo/tw/ =' z,ooopw!,

2kg = 620Rwf

1kg=(620+2)Rwf

Bks=(ryxo)nwr

8kg = 2,480Rwf

= Scm x Scm x Scrn

= l25cm3

D={
V

20Ou
= --=g_

125crlr3

= 1.69/crnl

2x+L=y
2x*l=27
2x=?!-1
2x 20

4:_ 22
r=10

Teacher's guiCance SP-CP

3,900,000Frw * 3,000,000Frvr

900,000Frw

xr=;1;x 1oo

90 0.00r.)=tr*rr*, i: 1uu

= 30%

C=Zrr ' [21 l=uxu-Z*a*i-
=2x3.14x5cm I l='1x1+2x-1x-3
=3'!.4cm I l=-2+6

= er-2

-4

i!4irrt.r - 'l 24.1= ?j!11
6A*12=72 1 I 500m1

rh_ ;:imin 72-50=22 I l_(zxl,ooo)mlAf -L{rnin Hours I I '
-th_ S0mrin :-1..1 I l=4bot1esoh_ prmln- 1-1=o I I

wre :*ooo* ,;;_,*_:I 
,
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l 

-

, :.1 '..: L,:

ii1tw6:r(d2X* f; il;-\irx 261 
-

lst 6s = l0 + {

= ll x?x 2)+ (1 x 2)+ {1 x 1i

=4+2+1
= /ten

l02three= (1 x 32) + (0 x 31) + {2 x 3o)

=(1x3x3), {0x3)+(2x1)
=9+2
= 1lten

1 1 1 two+1 C2three= Tten+1 lten

= 18ten

6men=4riays

1 man = (4 x 6)days

I men = ffi)ouvt
Smen=3days

D=llxNi
+.,500=50(Np-t)
.r:,500=50Np*50
,: 500 + 50 = 50ffp

.,[,550 = 50,lVp

4,550 _ 50Np

50 50
NP = 97'

Part (a)

LCD = 12 ql'Jultiply the 3 terms by LCD)

t?xt rx * h,r\i) -rr( , J=72(2)
3(2x) .4(x + L) = z+

6x-4x-4=24
2x=24-'i*
2x 28
22
x=L4

Part (b)

3;(*400*10o=1800
3r+30o=1800
3r = 18[til ?0o

31 1.50'

-.=+- 

i

33
r=50o
x+0Oa=50o*40o=90o
f -'10o = ',i0o - 10, = 40o

EmianeiErtlhi
Teachels gt{dance

2x=!
2x =3
2x3
aAa

;u = 1,5

1'!no= (x + 1)

2nno=(x+3)
3'dno=(*+5)
3x*9=39
3r=39-9

?={9r"ps=lQ+g={J
r=10 trd66=10+5=15

LCD = 56

33
i = 7 

* 56 = 24......... (ii)
55
Ti= TAx 

56 = 20...... ...(,)

13 13

fr= frx 56^ = 26 .,. ... ... (iii)

5313=;;'i'ii

(8:ilOort)
0ur

29

32 . part (a)

^_I x 100

fxR
_ 20,000 -x 100

2x10
= 100,000Frw

(250 x B) + (12 x r) = (280 x z0)
2,000l' *lZx = 5,600i'
LZx=5,600F-2,0O0}'
tZx = 3,60016'

LZx 3,600f
T=n
r = 300I'
The cosUkg ofthe second type is 300F

Part {bl

1rt 2nd Mix

Qtv 8 + 12 20

Pxlkg 250 x 2BA

(8:00onr)
Cor

Mean=ffi':''3r8 :36

,t

-r+ffi 
Ede.EEBr+!B$B4a!I4i={tiai_*+u-i}.'r+i,gj:f ,l-- 4

A

Tirne taken by each to rneet another

D

st -i- .s2

300ion
9Akm/h-i 60lun/tt

300lcm
T5Okttt/lv

= \hr
D == S x 'l(Ca/s inforntation)

: (90 x 2)icnr

= I8Oftlrr

Part (hJ

',ln = 8: 00atn I Zhr'

= 10: 00arn

Part (c)

0 1 3 x
0 2 6 3

Frequency table

Ages (r) Frequency (/) fx
33 4

2

4 
'"IJL

35' 70

36 1 Jb

40 2 80

42 1 42

Total (f)= 1g Total (/x) e 369
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